
Worksheet 3: ​ ​The Case of The Blue Diamond  

A.​Choose the right words to finish the sentences.  

a) Holms thinks that the diamond is … 
1. Wonderful and good.  
2. Beautiful and bad.  
3. Nice and Cheap.  

b) Mr. Baker didn't put an advertisement because… 
1. He wasn’t interested in his hat and goose.  
2. He didn’t have much money.  
3. He thought young men took the hat and the goose.  

c) Mr. Baker … 
1. is happy with a new hat and old goose.  
2. Wants his old hat and his old goose.  
3. Is happy with his old hat and new goose.  

d) After Mr. Baker leaves, Holmes and Watson go to speak to... 
1. Jack Horner. 
2. The young men in Tottenham Court Road.  
3. Mr. Windigate, the owner of the Alpha.  

B. ​Complete the puzzle below using the following words.  
Words:  

Already, terrible, innocent, safe, housekeeper, museum, address, pub, river  

  
Here you can find the puzzle:  

https://crosswordlabs.com/view/chapter3-19  

C.​ Fill in the blanks using the same words of the puzzle (B):   
a. Holmes put the diamond in his ________________.  
b. Holmes’s _____________________ is 221B Baker Street.  
c. Mr. Baker is ________________ , he didn’t take the diamond.  
d. Mr. Baker was ___________________ at the door when Mr. Watson arrived.  
e. Mrs. Hudson is Sherlock Holmes’s _______________________ .  
f. The British _____________________ has many old things in it.  
g. This is a very bad crime. Yes, it is ____________________ .  
h. They want to have a drink in the _________________ .  

https://crosswordlabs.com/view/chapter3-19

